The tangent plane to the graph of the surface z = ¢** Iny at the point (1,1, 0) is
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Find the maximum value of the function f(x,y) = 8x — Gy subject to the constraint
(z-12+y2=1
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The function f(z,y) = z* — y* — 3zy -+ 6 has local extrema consisting of:
One local maximum and one local minimum.

One local maximum and one saddle point.

One local miniraum and one saddle point.

One local maximum, one local minimum, and one saddle point.
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One local minimum and two saddle points.
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Change the order of integration and evaluate
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Do NOT evaluate. Rewrite the integral in cylindrical coordinates.
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Let E be the solid region enclosed by the cylinder 22 4+ y? = 1, and the planes z = 0
and y + z = 2. Which of the following triple integrals is equal to the volume of E?
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Find the volume of the solid that is enclosed by z®> + 4> + 22 =1, 22 + y> + 22 = 4, and
z = /22 4+ y2. \_——W
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